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How to ...... Stoichiometry

Remember steps: 1) balance
2) given/unknown
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1) If @_gg of propane (C;H;) is blined in a stove “¢arbon
dioxide (CO,) and water (H,O) are produced as shown in
the balanced equation below: ~_12¢!-2(1ecc) _po(%,} .

Sriedeetien | CoE ot — 3CO + 4H,0
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2) Burning ethane (C,Hg) inr air contaunlg oxygen (0O,)
produces carbon dioxide (CO,) and water (H,0). You
are to produce{SZ'moles of CO,. What mass of oxygen
is reqwuuredﬁ o »
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- ,3) Sodium iodide (Nal) reacts with a solution of lead nitrate
,, J}{Z ~ (Pb(NG;),) to form a lead iodide precipitate (Pbl,) and a
"~ ¢—solution of sodium nitrate (NaNQ;). When a scientist
adds 37.5g of Nal to enough Pb(NO;), solution, all of
the Nal reacts. What is the mass of the Pbl, formed?
The equatmon representing the reactlon IS:
S S Nal + PBING,), — Pbl, + 2 NaNO,
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4) The following equation describes the oxidation of
iron:
Fee * Oy ——*FEEO%) 3 3 "CJ
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How many molecules of Fe,0; are formed by the
complete oxidation of L g Fe?
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5) Use the fol!owm ' balanced WMtenmme

what m %s s of nitric acid (HNO,) is necessary to
obtain(6 moles of water.
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